
Hardware List (Left to Right)

Part List (Left to Right) Tools Required (Not Provided)

• (A) – Bolt – 5/16” x 3”
• (B) – Bolt – 3/8” x 1 ¼”
• (C) – Bolt – 3/8” x 1”

• (K) - BT-FLSTAND-TUBE
• (L) - BT-FLSTAND-CROSSBAR
• (M) - BT-FLSTAND-BASE

• 9/16” wrench
• - ½” wrench

• (D) – Flat Washer – 3/8”
• (E) – Flat Washer – 5/16”
• (F) – Lock Washer – 3/8”

• (G) – Nylon Lock Nut – 3/8”
• (H) – Hex Nut – 3/8”
• (J) – Nylon Lock Nut – 5/16”

Assembly Instructions
for Headwall Floor Stand

simlabsolutions 
a division of DiaMedical USA

 .com

DiaMedical USA  |  7013 Orchard Lake Rd, Suite #110 West Bloomfield, MI 48322 
P: (877) 593-6011 |  F: (248) 671-1550 |  www.DiaMedicalUSA.com



INSTALLATION INSTRUCTIONS
1. Locate position of the installation hole on BT-

FLSTAND-TUBE and proceed to install to BT-
FLSTAND-BASE as follows using the following
hardware:  1 of (B), 2 of (D) and 1 of (G)

4. Repeat above step by setting the BT-FL-
STAND-CROSSBAR diagonal to the BTFL-
STAND-CROSSBAR inserted in the above step.
This is shown below:

5. Insert the BT-FLSTAND-CROSSBAR across the two BT-
FLSTAND-TUBE using 2 of (A), 4 of (E) and 2 of (J). This
is shown below:

6. Tighten all nuts and bolts to ensure rigidity of the
floor stand.

7. Installation is now complete.

2. Repeat above step for the second BT-FLSTAND-
TUBE also using 1 of (B), 2 of (D) and 1 of (G)

3. Locate and position the BT-FLSTAND-CROSSBAR
across as is shown below using 2 of (C), 4 of (D)
and 2 of (G):

simlabsolutions 
a division of DiaMedical USA

 .com

DiaMedical USA  |  7013 Orchard Lake Rd, Suite #110 West Bloomfield, MI 48322 
P: (877) 593-6011 |  F: (248) 671-1550 |  www.DiaMedicalUSA.com



DiaMedical USA  |  7013 Orchard Lake Rd, Suite #110 West Bloomfield, MI 48322 
P: (877) 593-6011 |  F: (248) 671-1550 | www.DiaMedicalUSA.com




